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1) How many molecules are there in 47 grams of FeF3?
N = = Ty n="2 N=Na 2
*h (ss.) T 3015.498) M < (oanFe) (6.5¥x (07
- : e i3
= \1. %50\3/"’“’\ - —\%ﬂ")/m\ 29,51 x [0 molecules
- %000
2) How many molecules are there in 375 gpams of Na>S04? 4
N\ He B oo y M " EH ) (0,000
Na S 7T a0\ + [(3,065)+ 1(15.94) = (2,640ml | Lo 0UX10 7
ZCllquD\ l(3 ) \—5::1,30‘4\3&;\ :'; \\E%a\‘f {02.MO)€,(,I$€,
= \42.0“\\5lm°‘\ . &\61‘\0”\0\.
3) How many grams areth;\e/r\e in 2.3 x 10 atoms of silver?
- Mm=n
n= %)P‘ 5 - (Ol?,{zmol) (\O}.@’a!mﬂ\)
- 0 .
) %‘T%:'lﬂ?’ = L“, 21 9
2 0.3%2mol ,
4 How many grams are there in 19.2 x 10%* molecules of AgNO3?
N 0 _ N =N
\) = —b— - n~ﬂ ] 0‘
MAaNj |(l03r.ﬂ’\ ¥ \((qv"‘m”(ls'qm = lcl?‘lx\t)w :.(;\\z\‘i:? (M ?Hjlm )
4 \ G.o2x10 = 6H].
= 167, %4 6/"’“ L2169 mol -
5) How many molecules are there in 968 grams of H>SO4? N
_ A > 22 hz N=nNg 23
M, 50y =, 01.00%9) + |(32.065) + (1599 ) 528 . - (a $H0w)) (6,0Lx10 )
98,033/ mol CAOoTIM - o U (0™ moleculef
& J =9, 330 mol > H2x °
6) How many molecules are there in 100 moles of Cu(NOs)2?
N 0 NEEN
M( [,J() = __C_M_- — - n A
aliws) = (63,54b)+ 2(H.009) +6(15.90) (100) (025 16*)
- 3% SSqJIMo\ = 6.0Llx 0% o lecwlef
7 ow many atems arg-there' 102 mofléc alci

8) Convert the following two-step quantities, converting first to moles and to the desired
) Convert the following two-step quanites, convertin firstto moles and then o the

quantty=— ,
. Find the number of molecules\in 60.0 g of N2O.

ind the ¥olume of 3.24 x 1023 molecules of\Ne
ind thé mas§ of 18.0 I of CH \_
ind the volurme of 835 g of SO;  /

ind the mass of one atom of c\ke .
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